1ST Macroeconomics Test Review
EddY

Goals of macroeconomics
· Living standards
· Stability and security
· Sustainability (social, environmental, economical)
· National income accounting- a system that collects macroeconomic statistics on production, income, investment, and savings

· What’s not counted is the intermediate goods- goods used in the production of final goods

· Three approaches to count GDP


Income


Expenditure



Durable goods- goods that last for a relatively long time



Nondurable goods- goods that last for a short period of time


Output
GDP- the dollar value of all final goods and services produced within a country’s borders in a given year
· GDP has to measure different products (“apples and oranges”)…it can only do that by calculating everything on the basis of its market value

· GDP tries to be as comprehensive as possible, but can’t measure everything.  Examples: domestic services, underground economy, etc.

· GDP tries to avoid double counting, so it excludes “intermediate goods” that are used to produce final goods, e.g. wheat for bread…exception is “unsold inventory” at end of year

· GDP includes both physical goods as well as services, even government services such as police and firefighters

· GDP only includes things produced in the current period; it excludes things that were produced earlier and resold, e.g. use cars, stock trading

· GDP looks at where goods are physically produced (or services performed)…so if a US citizen works in China, his/her production is counted as China’s GDP

· GDP is usually measured annually or quarterly…it’s a “flow” measure (vs. stock measure)…if measured quarterly, the number is usually “annualized” and “seasonally adjusted”
Components of GDP (“Y”)

· Consumer Spending (“C”)
· Spending by households on goods and services; but excludes purchase of new housing

· Investment or Business Spending (“I”)
· Spending on capital equipment, inventories and buildings, includes household purchase of new housing

· Government Purchases (“G”)

· Spending on goods and services by all levels of government, includes wages of government workers but excludes transfer payments

· Net Exports (“X” – “M” = “NX”)
· Spending on domestic goods by foreigners (X) minus spending on foreign goods by domestic residents (M)

Therefore:  Y = C + I + G + (X – M)

· Nominal GDP- GDP measured in current prices

· Real GDP- GDP expressed in constant or unchanging, prices
Limitations of GDP

· Data inaccuracies
· Unrecorded activities

· Informal transactions, e.g., volunteer work, parenting, etc.

· DIY work, e.g. subsistence farming, home repair, etc.

· Underground economies

· External costs/benefits

· Resource depletion

· Pollution (or pollution clean up)

· Quality of life
· Leisure time

· Safety, quiet, stress, aesthetic aspects of life

· Composition of output (“bads”)

· Semi-automatic rifle vs. jar of baby food

· GNP- the annual income earned by U.S. owned firms and U.S. citizens

· Depreciation- the loss of the value of capital equipment 

· Price level- the average of all prices in the economy

· Aggregate demand- the total amount of goods and services in the economy available at all possible price levels

· Aggregate supply- the amount of goods and services in the economy that will be purchased at all possible levels
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	Exclusions of GDP

	
	Used good
Cash transfer (SS, welfare)
Financial transaction (stock market)
Intermediate good
Non-domestic transaction
Non market transaction
Illegal or unreported transaction


Economic Growth – two forces

1. Long term growth, i.e. growth trend
2. Short term growth, i.e. variability around the trend (business cycles)

PEAK => Contraction => TROUGH => Expansion
· Recession:
· Textbook: prolonged contraction generally lasting 6-18 months, typically marked by unemployment rising into the range of 6-10%

· Common man’s definition: two consecutive quarters of negative GDP growth

· NBER: a significant decline in economic activity spread across the economy, lasting more than a few months, normally visible in real GDP, real income, employment, industrial production, and wholesale-retail sales

· Depression: Text: especially long and severe recession (no precise definition)

· Recovery: phase of growth after a recession which economy reaches/exceed prior levels of employment and output

· Stagflation: Text “decline in real GDP coupled with rise in price level”

Labor=>

1. Population growth [not relevant if you’re concerned with GDP per capital]

2. Increase in % of population participating in labor force, e.g. unemployed getting jobs; women in work force (?)

3. Increase in work hours [limited scope for change, and not good if your goal is quality of life]

Land=>

1. Bringing land into production, e.g. America in the 1800s

2. Discovery of natural resources, e.g. oil; new energy sources? [although this crosses into technology Q]

Capital=>

1. Physical capital

2. Human capital, i.e. education; training; experience

Capital deepening – the process of increasing amount of capital per worker
Diminishing Returns: “As the stock of capital rises, the extra output produced from an additional unit
of capital falls. In other words, when workers already have a large quantity of capital to use in producing

goods and services, giving them an additional unit of capital increases their productivity only slightly.”

Catch Up Effect: “other things equal, it is easier for a country to grow fast if it starts out relatively poor.
…in poor countries, workers lack even the most rudimentary tools and, as a result, have low productivity.

Small amounts of capital investment would substantially raise these workers’ productivity.”

Savings and investment are equivalencies

· Households save; $$ goes into a financial institution

· Businesses borrow; $$ used to purchase capital goods

· More capital goods = more production capability for the economy, i.e. capital deepening

· Another way to think about it

· Savers forgo current consumption; demand for consumption goods decreases

· Productive resources now available for investment; demand for capital goods increases

· Trade off between consumption and capital goods (think of PP model)

· Side note: main purpose of financial markets is to channel resources from savers to investors

· So, more savings = more capital deepening = faster GDP growth

· Does savings = investment for an individual economy? No, reason is international trade and investment.

· FDI: if US is investing in Mexico, US savings are used to create capital goods in Mexico => growth in Mexican GDP at expense of US GDP

· Trade deficit: importing capital goods => capital deepening

· Trade surplus: exporting capital or consumer goods => forgoing use of those resources in your own country for consumption or investment
· What is the role of government? Government can force savings or force dis-savings depending on how they tax and spend

· If tax revenues used for infrastructure investment => government is essentially forcing savings

· If tax revenues used for current consumption (X-fer payments, government services, military, etc.) = no net effect on savings

· If government is running a budget surplus => net savings (ceteris paribus)

· If government is running a budget deficit => depends what government is doing with it
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	High and rising savings rate (over 50% of GDP last few years)
Investment rate high but BELOW savings rate
	Low and declining savings rate (now at 15% of GDP after recession uptick)
Investment rate ABOVE savings rate


Governments give more focus to spurring technological improvements
	Technology
	Entrepreneurship

	 -- direct funding of basic R&D 

 -- patent system

 -- open markets / immigration

 -- science and technology education
	· Technology needs to be applied to making products & services - entrepreneurship

· Entrepreneurship requires the right environment

· Strong property rights

· Absence of corruption / minimal regulation

· Political and policy stability

· A culture which encourages risk taking and accepts failure


Business Investment: small % of GDP but tends to swing more than other components

Interest rates:
  -- Naturally rise when demand for borrowing is high (strong growth); thus dampening growth

  -- Monetary policy: government can raise or lower rates to boost/dampen growth (but usually tries to be 
counter-cyclical)

  -- Unforeseen interest rate shocks: foreign investors pull money out of southern Europe=>rates spike 
upwards=>business investment slows

Consumer expectations:
  -- When economy slows and layoffs occur, consumers may worsen the situation by delaying spending

External supply shocks: oil price increase; wars; droughts

Aggregate Demand

· P = overall price level (average of all products)

· Q = total qty. of goods and services, i.e. national output = expenditure = income, i.e. GDP or Y

· Note the Y axis uses the term “real” – we’re talking about output/income adj. for inflation

· No substitution effect, but income effect 

· Components of demand (factors which could cause shift of AD) = C + I + G + X – M

· Consumption: could be effected by change in taxes, rise in stock or housing prices, consumer confidence 
· Investment: interest rate increases/decreases, business taxes or rebates (investment tax credit), business confidence

· Government: war, infrastructure spending, etc.

· Trade: exchange rates, overseas growth






_1391274718

_1391274737

